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	Cost price              
Taking  profit as 30% 	
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	P(M and W) or P( W and  M)



	
M1

M1

A1
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At A, 
Gradient of tangent = 11
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	Area of a sector 



Length of an arc 
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A1
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	Mean 
	
	
	

	43
	
	144

	48
	
	49

	54
	
	1

	55
	
	0

	56
	
	1

	57
	2
	4

	62
	7
	49

	65
	10
	100

	
	
	


 
Standard dev = 

	B1



B1 for 








M1 A1
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	a) DB = 
      BE =  = 11.18 cm

b) 
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M1
A1
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	 .... (i)
 ..... (ii)

From (i)





	M1






M1





A1 for both values
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Determinant = 

Area of image = 
	

M1

M1

A1
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Accept  only
	
M1

M1

M1


A1
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	a) 





b) Common ratio 
                                 

c) 
     S4 = 729 
         = 729 
=   
= 1080

d) For the A.P, 
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B1

M1

A1
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	a) 

b)  Tax due
1st band = 
2nd band = 
3rd band = 
4th band = 
             
Taxable income 
               
Basic salary 

c)  Total deductions 
        Net salary 
                          
	B1



M1



M1


M1


A1


M1
M1
A1









19. (a)B1 for circle r = 4 cm
B2 for AC and AB
B1 for BC
B2 for perpendicular bisectors
B2 for circle touching points A,B and C only
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	c) OH = 1.4 cm
d) Radius = 2.0 cm
	B1
B1
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	a) 

b) (i) Distance = 
               
                     

      (ii) 
                            
c) Time difference = 
                           2.00 p.m. + 4 hrs = 6.00 p.m 

d) (i) 
(ii) 
	B1

M1

M1

A1

M1

A1


B1
B1


B1
B1

	21
	a) 



c) (i) Fanta = 300 crates
     Coke = 100 crates
(ii) 
	B1
B1
B1
B1
B1

B1


b) [image: F:\img20211119_15112153.jpg]
	B1  for each of the inequalities   total 4 marks
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	b) 
[image: ]
S & A =1
P = 2
C =1
c) (i)              B1
(ii) Amplitude = 2                           B1
      Period =                             B1
(iii) 
       
Difference in y     B1
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	a) (i) 
(ii)    
              
      (iii)  

b) (i)      
     (ii) 
                                    
 (iii)             
 ................ (i)
 ..... (ii)
                   


    
c) 
	B1

M1

A1

B1


B1



B1


M1





M1





A1 for both h and k
B1
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	a) 

 

b) On the graph shown below
 
c) 

 
 
d) 







Matrix M = 
	M1


A1



M1 M1


A1

M1



M1 solving simultaneous equations





A1
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B1 for 
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(a) From any point A on the circomference, draw fwo chords AB = 7 cm and AC = 7.5 cm on the.
opposite sides of the Centre. (Qumarks)

(6) Join B to C and locate the orthocenter (H) of riangle ABC. Join OH.  (4mari)

OH=14em

(c) Use the midpoist of O as the Centre to inscribe a circle to triangle ABC and measure it radius.

Tools.

Sign

Comment
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File Edit View Window Help
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| HB BSOS BEEAH| 22| Tools | Sign | Comment

2cosx| -2 —1.73 -1 [ 1 173 |2]173] 1 0 -1 |-173
sin 2x [] 0.87 0.87 [] —0.87|—0.87|0]087]|0.87| 0 |—0.87| —0.87
b) On the grid provided, draw the same axis the graphs y = 2 cos x and y = sin 2x for —180°
x < 180° (4mks)
s
< -
| 0 o s o
V= sin2x
v

©) Use the graphs in (b) above to find;
i The value of x such that 2 cos x — sin2x = 0 (1mk)
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